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TA4 :
Version: 20140715-L
HE 1=12V 2=24V
RHS5EE SR
TR
(mm)
RERT 1TR2+140mmbL L (Eim&E 1. 2) 1TF2+160mmBL £ (3 AR 3. 4. 5)
7 EFERERSTH], S ELRITEE
TiwAxX 1= FL#26.4mm, #FE6mm 3= 7L1210mm, #FE6mm
2 = FLZ8mm, HEFE6mm A=%E%1L
LR 1 =FL%&6.4mm 4=U%, #EF6mm, FL126.4mm
2 = L128mm 5=UZ!, #3E6mm, FLE8mm
3=UR, #Z6mm, FLEE10mm A=EHlL
TikfaE 1=0° 2=90°
B 7k ThEE 1=75 2=1P54 3=1P66
2T LRI RIThAE 0= 7 (FR/E) 2 = hRofE R AL
7 AEGREEDIE. JANAIE #2 RHERHL (REBAAHENAE)
IR FF X INEE 1 = Mim R YIR TR 4=Minm AR ESHEEEFREHFRESHEH
2= Min A RTERNE £ = ME <G5S A=EHlL
3=Min A XESHE
ES it 0=% 4=EIRMEREE (—MES) 5=ERERRESE (CNMES)
sk 1 = 3R EWAREDIN 6pinfsk M B E L 2= 144455 A=EHlL
i 1=H%,300mm 2=H%, 600mm 3=H%, 1000mm A=ZEHIL



